KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

Form ACO-1 June 2009 Form Must Be Typed Form must be Signed All blanks must be Filled

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License # 32798	API No. 15 - 15-007-23220-00-00
Name: Hart Energies, LLC	Spot Description:
Address 1: 7122 S. Sheridan Rd.	SENESec3Twp31S R10
Address 2: Suite 2-363	1,980 Feet from North / South Line of Section
City: Tulsa State: _OK _ Zip: _74133 _ + _2 _7 _4 _8	660 Feet from Feet from East / West Line of Section
Contact Person: William G. Hart, Member	Footages Calculated from Nearest Outside Section Corner:
Phone: (918) 633-4161	✓ NE □NW □SE □SW
CONTRACTOR: License # 33789	County: Barber
Name: D & B Drilling, LLC	Lease Name: Well #: #1
Wellsite Geologist: William G. Hart	Field Name: Alma
Purchaser: Gas=West Wichita Gas Gathering, LLC / Oil=Parnon Gathering, LLC	Producing Formation: Mississippian
Designate Type of Completion:	Elevation: Ground: 1,750' Kelly Bushing: 1,756'
✓ New Well Re-Entry Workover	Total Depth: 4,680' Plug Back Total Depth: 4,518'
Oil WSW SWD SIOW	<u> </u>
✓ Gas D&A ENHR SIGW OG GSW Temp. Abd.	Multiple Stage Cementing Collar Used? Yes No
CM (Coal Bed Methane)	If yes, show depth set: Feet
Cathodic Other (Core, Expl., etc.):	If Alternate II completion, cement circulated from:
If Workover/Re-entry: Old Well Info as follows:	feet depth to:w/sx cmt.
Operator:	
Well Name:	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)
Original Comp. Date: Original Total Depth:	
Deepening Re-perf. Conv. to ENHR Conv. to SWD	Chloride content: N/A ppm Fluid volume: 0 bbls
☐ Conv. to GSW	Dewatering method used: vacuum off clear liquids, air dry, then backfill
Plug Back: Plug Back Total Depth	Location of fluid disposal if hauled offsite:
Commingled Permit #:	Operator Name:
Dual Completion Permit #:	Lease Name: License #:
SWD Permit #:	
ENHR Permit #:	QuarterSecTwpS. RRECEIVED Fast West County:Permit #:
GSW Permit #:	DEC 1 9 2011
Spud Date or Date Reached TD Completion Date or	DEC 13 2011
Recompletion Date Recompletion Date	KCC WICHITA
INSTRUCTIONS: An original and two copies of this form shall be filed with Kansas 67202, within 120 days of the spud date, recompletion, workover or co of side two of this form will be held confidential for a period of 12 months if req tiality in excess of 12 months). One copy of all wireline logs and geologist we BE ATTACHED. Submit CP-4 form with all plugged wells. Submit CP-111 for	onversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. Information uested in writing and submitted with the form (see rule 82-3-107 for confiden-II report shall be attached with this form. ALL CEMENTING TICKETS MUST
AFFIDAVIT	KCC Office Use ONLY
I am the affiant and I hereby certify that all requirements of the statutes, rules and r	egu
lations promulgated to regulate the oil and gas industry have been fully complied	1
and the statements herein are complete and correct to the best of my knowledg	e. Confidential Release Date:
Simon In M. S. Citas De	Wireline Log Received
Signature: 20 1/0 3 / 1/00	Geologist Report Received
Title: Member Date: 12/15/11	UIC Distribution DIG - 12/27/11

Title:

Operator Name: Ha	rt Energies, LLC		Lease	Name: _	Jerrod		Well #:#1		
. Šec. <u>3</u> тwp. <u>31</u>	s. R. <u>10</u>	East ✓ West	Count	y: Bart	oer				
time tool open and cl recovery, and flow ra	now important tops and osed, flowing and shut- les if gas to surface tes Attach final geological v	in pressures, whethe t, along with final cha	r shut-in pre	ssure rea	ched static level,	hydrostatic pres	sures, bottom	hole temp	perature, fluid
Drill Stem Tests Take (Attach Additional		✓ Yes No	* * * * * * * * * * * * * * * * * * * *	 ✓L	og Formatio	n (Top), Depth a	nd Datum		Sample
Samples Sent to Geo	ological Survey	✓ Yes No		Nam			Top		Datum 4.070
Cores Taken Electric Log Run Electric Log Submitte (If no, Submit Cop	d Electronically	Yes No Yes No Yes No		Missis	ssippian Chert sppian Lime anooga		3,635' 4,436' 4,485 4,737		-1,879 -2,680 -2,729 -2,981
List All E. Logs Run: Dual Compens and Sonic Cem	ated Porosity Log ent Bond Log	g, CNL/CDL,							
			G RECORD	√ Ne					•
Purpose of String	Size Hole Drilled	Report all strings se Size Casing Set (In O.D.)	We	eight . / Ft.	Setting Depth	Type of Cement	# Sacks Used		and Percent
Surface Casing	12 1/4"	8 5/8"	23	3#	268'	60/40 Cls A Pozmi	× 200	2% Gel	, 3% Chloride
Prouction Casin	g 7 7/8"	5 1/2"	15	.5#	4,780'	ASC&60/40 Cls A Pozmi	× 150	Kolseal, I	FL-160, CLA Pro
Purpose:	Depth	Type of Cement		s Used	EEZE RECORD	Type and	Percent Additives		
Perforate Protect Casing Plug Back TD Plug Off Zone	Top Bottom								
Shots Per Foot		N RECORD - Bridge Plootage of Each Interval P				cture, Shot, Cemer		rd	Depth
2	Perforated - 2 per f				•	486' to 4,576' (
2	Perforated - 2 per f	foot - 4,495' - 4,503	' (16 Ttl)		- with 3	,000 gal 15% H	ICL		
4	Perforated - 4 per f	oot - 4,528' - 4,530'	(8 Ttl)		- includi	ing 12,000 lbs.	Super LC 16	/30	_
4	Perforated - 4 per f	oot - 4,486' - 4,488'	(8 Ttl)		- and 15	51 Gal. Micro T	ech 200 R	ECEIV	ED
	Set Bridge Plug						DE	C 19	2011
TUBING RECORD:	Size: 2 7/8"	Set At: 4,351'	Packer / N/A	At:	Liner Run:	Yes ✓ No	, KU	S WIC	LITA
Date of First, Resumed 4/1/2008	Production, SWD or ENH	R. Producing M	ethod:	ng 🗌	Gas Lift 0	other (Explain)	*****	> 	
Estimated Production Per 24 Hours	Oil Bi	bls. Gas	Mcf MCF	Wate	er Bt 300 Bbls	bls.	Gas-Oil Ratio		Gravity
DISPOSITI	ON OF GAS:		METHOD O	F COMPLE	TION:		PRODUCTI	ON INTER	VAL:
Vented ✓ Solo	Used on Lease	Open Hole	✓ Perf.	Dually		nmingled N	Mississippian -		



Lincoln Street

F.J. Box 31

Russell, KS 67665-2906

Voice:

(785) 483-3887

Fax:

(785) 483-5566

Hart Energies, LLC 11051 S. Memorial **STE 200**

Tulsa, OK 74133

INVOICE

Invoice Number: 110993

Invoice Date: Oct 31, 2007

Page: , 1

Customer (D):	Well Name #307 Gustomer P.O.	Raymen	MOMENTAL STATES
HartE	Jerrod #1	Net 30	Days
Sales (Cop) (D.	Camp Location	Service Date	Due Date
	Medicine Lodge	Oct 31, 2007	11/30/07

	In the second	The second of th		
Quantity.	(tem)		Unit Price	Amount &
	MAT	Common Class a	11.10	1,332.00
80.00	MAT	Pozmix	6.20	496.00
4.00	MAT	Gel	16.65	66.60
7.00	MAT -	Chloride	46.60	326.20
211.00	SER	Handling	1.90	400.90
15.00	SER	Mileage 211 sx @.09 per sk per mi	18.99	284.85
	SER	Surface	815.00	815.00
1	SER	Mileage Pump Truck	6.00	90.00
1.00		Head Rental		
1	EQP	i	100.00	100.00
1.00	EQP	Wooden Plug	60.00	60.00
		·		, ,
	•			,
	,		_	
			RECE	IVED
	*		DEC 1	9 2011
		02/2/67	KCC W	CHITA
		γ		O' II IA
[
	•	Ok# 2156		,
		CRT 213		
ALL DOIGED AS	DE NET DAVADI	E Subtotal		2 074 55

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF



ONLY IF PAID ON OR BEFORE

Nov 30, 2007

Subtotal		3,971.55
Sales Tax		143.69
Total Invoice Amount		4,115.24

Payment/Credit Applied

TOTAL

ALLIED CEMENTING CO., INC. 31287

REMIT TO P.O. RUS	BOX 31 SSELL, KA	NSAS 676	665		SER	VICE POINT:	clodea
, - JE	RROD					10-30	
DATE 0-29-01	SEC.	TWP.	RANGE 10 LJ	CALLED OUT	ON LOCATION	W:co Am	JOB FINISH 10:30 Am STATE
DEASE STATE	WELL#	1	LOCATION D	ROATTICHY	Rd. 24 to	1 - 1 1	Ka.
OLD OR NEW	Circle one)	, , , , , , , , , , , , , , , , , , ,	Sandolum Rd		into		
CONTRACTOR		#1	- vereploss luc	•	ct Energy		
TYPE OF JOB 5	500fac		0. 273	_ CEMENT			
CASING SIZE	135/2		EPTH ZIB		RDERED 2005	5x 6014012.	18%
TUBING SIZE			EPTH			, , , , , , , , , , , , , , , , , , , ,	
DRILL PIPE		DE	PTH				
TOOL			PTH	*			
PRES. MAX			NIMUM	_	120 A		1332.00
MEAS. LINE	TNI CCC /		OE JOINT —	_ POZMIX	80 U	@ 6.20 @ 16.65	496.00
CEMENT LEFT PERFS.	IN CSG. 7	<u>J</u>		GEL CHLORIDE	7		326.20
DISPLACEMEN	T 1/2 R	BISTA	each Hro	ASC		@	<u> </u>
DIST DI KOSIVISI		JIPMEN'I	· · ·				
	LQC	JII IVIISIVI				@	
PLIMP TRUCK	CEMENT	ED N	20 W Poles			@	
'53-	HELPER						
BULK TRUCK	TIDDI DIC	11,40	D /			@ <u></u>	
# 381	DRIVER	Cok 1	/ .			_	
BULK TRUCK							
#	DRIVER			HANDLING	211	@ 1.90	400.90
				MILEAGE	15 x211 .	1.09	284.85
,	RE	MARKS:	,			TOTAL	2906.55
Din on lan	Hom los	ON CH	C. Pumpaide	<			
fresh mix			+3% a. Stop.	·	SERVI	CE	
release Plus	. Disp	1/1/ (iii	esh. Displace				
			top Shutin				5
- 13	epsi.	Cement	did Gearin		K CHARGE		815.00
Celler				_ EXTRA FOO		@ 6.00	- 900
			and the second s	MILEAGE	Head Renta		1120.00
				- MANIFULDA	ICED NOTE	@ <u>/ </u>	
CHARGE TO:	Laden	P(C)					
		~,		····		TOTAL	1005.00
STREET			ne en e				
CITY	S7	TATE	ZIP	- .	PLUG & FLOA	T EQUIPMEN	Г
			~	/ -		0.4.5.00	4000
		•	87	1-wooden	PIS	_@ <u>60.00</u>	60.00
		•	`				
To Allied Ceme	_					@	
•	•		menting-equipment assist owner or				
		_	The above work was	ANYAM	PLICABLE 12 BE CHARGE		
			n of owner agent or	VY 11-13-1 3-	INVOICING	TOTAL	60.00
			nd the "TERMS AN	D			
. ~NDITIONS	" listed on	the rever	se side.	TAX	3		
				TOTAL CHA	RGE	海里星	<u> </u>
	• •			DISCOUNT -		TE DATE	IN 30 DAYS
	. // .			DISCOUNT -		II IAII	MIJODAIO
OTONI ATTITUTE •	70	7		1.,1	E CASON		
SIGNATURE		(a)	~	- x ->/!	DDINIT	ED NAME	
	1				1 1/11/1	ED NAME RE	CEIVED
						עבר	10 204



Lincoln Street

P. Box 31

Russell, KS 67665-2906

Voice:

(785) 483-3887

Fax:

(785) 483-5566

BilliTo:

Hart Energies, LLC 11051 S. Memorial

STE 200

Tulsa, OK 74133

INVOICE

Invoice Number: 111178

Invoice Date: Nov 12, 2007

Page:

1

Customer ID 独爱点	Well Name# or Customer P.O.	Paymen	t Terms
HartE	Jerrod #1	Net 30	7
Sales Rep ID	Camp Location	₩⊉ Service Date	Due Date
	Medicine Lodge	Nov 12, 2007	12/12/07

Quantity :	tem	Description & Artist	Unit Price	Amount Amount
15.00	MAT	Common Class A	11.10	166.50
10.00	MAT	Pozmix	6.20	62.00
1.00	MAT	Gel .	16.65	16.65
125.00	MAT	ASC Class A	13.75	1,718.75
625.00	MAT .	Kol Seal	0.70	437.50
12.00	MAT	Cla Pro	25.00	300.00
500.00	MAT	Mud Clean	1.00	500.00
59.00	MAT	FL-160	10.65	628.35
187.00	SER	Handling	1.90	355.30
15.00	SER	Mileage 187 sx @.09 per sk per mi	16.83	252.45
1.00	SER	Production Casing	1,750.00	1,750.00
15.00	SER	Mileage Pump Truck	6.00	90.00
1.00	SER	Head Rental	100.00	100.00
1.00	EQP	Guide Shoe	170.00	170.00
1.00	EQP	AFU Insert	260.00	260.00
5.00	EQP	Centralizers	50.00	250.00
1.00	EQP	Rubber Plug	65.00	65.00
			:	
		R 12/2/07		
ALL PRICES AR	RE NET, PAYABLI	Subtotal		7,122.50
	OWING DATE OF	Sales Fax		288.21
	1/2% CHARGED IF ACCOUNT IS	Total Invoice Amount		7,410.71

Payment/Credit Applied

CURRENT, TAKE DISCOUNT OF

\$ 17/2,25

ONLY IF PAID ON OR BEFORE

Dec.12, 2007

DEC 1 9 2011

RECEIVED T. 410 TI

KCC WICHITA

ALLIED CEMENTING CO., INC. 23804

F TT TO P.O. BOX 31 RUSSELL, KANSAS 67665	SERVICE POINT:
	CALLED OUT ON LOCATION JOB START JOB FINISH
DATE //-8-0/03 3/5 /00	7:00pm 12:00Am 1:00Am
LEASEVERAND WELL# LOCATION (CICLY)	RO + Tri Coty Ro Barbon RS
OLD OR NEW (Circle one)	
CONTRACTOR D+13	OWNER Hart Energy
TYPE OF JOB NOC (59	- Company
HOLE SIZE 7 P.D. 4808	CEMENT
CASING SIZE 55 DEPTH 4780 TUBING SIZE DEPTH	AMOUNT ORDERED 125 M/ Asc + 5 Holsen
DRILL PIPE DEPTH	12 gal clopie, 500 gal mudelles
TOOL DEPTH	
PRES. MAX 1500 MINIMUM 100	COMMON 15 A @ 11.10 16650
MEAS. LINE SHOE JOINT 42 CEMENT LEFT IN CSG. 2/2/3	POZMIX 10 @ 6.20 62.00 GEL / @ 16.65 16.65
PERFS.	GEL
DISPLACEMENT //3 bbs 26 KcL	ASC 125 A @ 13.75 1718,75
EQUIPMENT	KOI SEAL 625 @ .70 437.50
	C/APro 12 d @ 25.00 300.0
I PTRUCK CEMENTER	Mud Clean 500 of @ 1.00 500.00 FL-160 59 # @10.65 628.3
HELPER JANL	@
#36 DRIVER Heath	@
BULK TRUCK	
# DRIVER	HANDLING 187 @ 1.90 355.30
	MILEAGE 15 × 187 × , 09 252.45
Pipe on bottoms Cyculate Rimp Strish 5003al mud Clean & Stresh	TOTAL 4437.50 SERVICE
Plug rate mouse mix 125 of 14x	SERVICE ,
Sollet down pump wash plung +	DEPTH OF JOB 4780
light a relieve plus stort alegiaen	PUMP TRUCK CHARGE 1750.00
1 ht to 3 pom pump shire et	EXTRA FOOTAGE@
1/3 666 + 100 per plantaly	MANIFOLD @
hole	Fead rental @100.00 100.00
	@
CHARGE TO: Hart mergy	@
STREET	
STREET	@
	@
STREET	PLUG & FLOAT EQUIPMENT
STREET	© TOTAL 1940.07 PLUG & FLOAT EQUIPMENT 5
STREET STATE ZIP	## TOTAL 1940.07 PLUG & FLOAT EQUIPMENT 5
STREET STATE ZIP To Allied Cementing Co., Inc.	## TOTAL 1940.07 PLUG & FLOAT EQUIPMENT 5 2 1-9 4 1-00 170.00 1-4 1-0 1 1 1
STREET STATE ZIP To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment	## TOTAL 1940.07 PLUG & FLOAT EQUIPMENT 5 2 1-941 Dise @ 170.00 170.00 1-H-Vender @ 260.00 260.00 5-Centraleger @ 50.00 250.00 1-Rusber plug @ 65.00 65.00
STREET STATE ZIP To Allied Cementing Co., Inc.	PLUG & FLOAT EQUIPMENT 5 2 1-9 juil Dhoe @ 170.00 170.00 1-H-V indust @ 260.00 260.00 5-Centralezers @ 50.00 250.00 1-Rusber plug @ 65.00 65.00 ANY APPLICABLE TAX
To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or corractor to do work as is listed. The above work was quie to satisfaction and supervision of owner agent or a satisfaction and supervision of owner agent or a satisfaction.	PLUG & FLOAT EQUIPMENT 5 2 1-941 Dlose @ 170.00 170.00 1-H-Vendent @ 260.00 260.00 5-Centralezer @ 50.00 250.00 1-Rusber Plug @ 65.00 65.00 ANY APPLICABLE TAX ANY APPLICABLE TAX
To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or corractor to do work as is listed. The above work was use to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND"	PLUG & FLOAT EQUIPMENT 5 2 1-9 juil Dhoe @ 170.00 170.00 1-H-V indust @ 260.00 260.00 5-Centralezers @ 50.00 250.00 1-Rusber plug @ 65.00 65.00 ANY APPLICABLE TAX
To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or corractor to do work as is listed. The above work was quie to satisfaction and supervision of owner agent or a satisfaction and supervision of owner agent or a satisfaction.	PLUG & FLOAT EQUIPMENT 52 1-9 yeld Dlose @ 170.00 170.00 1-H-Vender @ 260.00 260.00 5-Centraleger @ 50.00 250.00 1-Rubber plug @ 65.00 65.00 ANY APPLICABLE TAX WILL BE CHARGED UPON INVOICING TAX
To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or corractor to do work as is listed. The above work was use to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND"	PLUG & FLOAT EQUIPMENT 52 1-941 Dise @ 170.00 170.00 1-HEV INDUST @ 260.00 260.00 5-Centralegen @ 50.00 250.00 1-RUS ber plug @ 65.00 65.00 ANY APPLICABLE TAX WILL BE CHARGED TOTAL 745.00 UPON INVOICING
To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or corractor to do work as is listed. The above work was use to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND"	PLUG & FLOAT EQUIPMENT 52 1-9 yeld Dlose @ 170.00 170.00 1-H-Vender @ 260.00 260.00 5-Centraleger @ 50.00 250.00 1-Rubber plug @ 65.00 65.00 ANY APPLICABLE TAX WILL BE CHARGED UPON INVOICING TAX
To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or corractor to do work as is listed. The above work was quie to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND CONDITIONS" listed on the reverse side.	PLUG & FLOAT EQUIPMENT 5 2 1-941 Dlose @ 170.00 170.00 1-HEVENDENT @ 260.00 260.00 5-Centralyers @ 50.00 250.00 1-RUS ben plug @ 65.00 65.00 ANY APPLICABLE TAX WILL BE CHARGED UPON INVOICING TAX TOTAL CHARGE
To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or corractor to do work as is listed. The above work was use to satisfaction and supervision of owner agent or contractor. I have read & understand the "TERMS AND"	PLUG & FLOAT EQUIPMENT 5 2 1-941 Dlose @ 170.00 170.00 1-HEVENDENT @ 260.00 260.00 5-Centralyers @ 50.00 250.00 1-RUS ben plug @ 65.00 65.00 ANY APPLICABLE TAX WILL BE CHARGED UPON INVOICING TAX TOTAL CHARGE